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Instructions for the Candidates

. Write your roll number in the space provided on the top of this pagc.

This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :

(1) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions ir
the booklet with the information printed on the cove:
page. Faulty booklets due to pages/questions missing o1
duplicate or not in serial order or any other discrepanc)
should be got replaced immediately by a correct bookle
from the invigilator within the period of 5 minutes
Afterwards, neither the Question Booklet will be replaced
nor any extra time will be given.

After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct responsc against each item.

Example : CA) e O

where (C) is the correct response.

(i1)

(111)

Your responses to the items are to be indicated in the OMR Sheet
kept inside the Paper I Booklet only. If you mark at any place
other than in the ovals in thec Answer Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

[f you write your name or put any mark on any part of thc OMR
Answer Sheet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself liable
to disqualification.

You have to return the test question booklet and OMR Answer
Sheet to the invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination Hall.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There is no negative marks for incorrect answers.
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Note :

This Paper contains Fifty (50) objective type questions, each question carrying

two (2) marks. Attempt all the questions.
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1. The rate of which discounting the bills

of first class banks is done by RBI is
called

(A) Bank rate

(B) Prime Lending rate
(C) Loan rate

(D) Discounting rate

2. The characteristics of a global company is

(A) It 1s conglomerate of multiple

units but all linked by common
ownership

(B) Multiple units drawn on a common
pool of resources such as money,
credit, information, patents, trade
names

(C) The units respond to some common
strategy

(D) All the above

3. Gilt edged securities refer to
(A) Government securitics

(B) Securities issued by municipal
corporations

(C) Securities issued by first class
companics

(D) None of these
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(A) Ta. 4,00,000 =52 3. 2,00,000
(B) . 500,000 =2 Gr. 2,75,000
(C) gn. 500,000 =, 3. 2,25,000
(D) Ba. 3,00,000 =33 Ta. 1,00,000

4. A number of sick units from private
sector were taken over by public sector
due to

(A) Low manufacturing

(B) The social obligations of protecting
employment

(C) The deficiency of managerial
planning

(D) No confidence on private sector

S. A and B are partners sharing profits and
losses in the ratio of 2 : 5. They admit C
on the conditions that he will bring
goodwill in cash which is distributed
between A and B. C’s share in future
profit or loss 1s to be one fitth (1/5).

The new profit sharing ratio of A, B and C
will be :

(A) 8:20:7
() 15:6: 14

(B) 7:13:15
(D) 11:11:12

6. A particular firm provided the
following data for the ycar 2011-12

Current ratio 2.5 : 1
Liquid ratio 1.5 :1

Networking capital = Rs. 3,00,000,
Bank over draft Rs. 50,000

The amount of current asscts and
inventory included therein are

(A) Rs. 4,00,000 and Rs. 2,00,000
(B) Rs. 5,00,000 and Rs. 2,75,000
(C) Rs. 5,00,000 and Rs. 2,25,000
(D) Rs. 3,00,000 and Rs. 1,00,000
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WOTD Waar wots = 360 HINSoTD SPOD.

7. R8> Ron® Shamotd DR, oo
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9. 30030 TWS L3THAIW
(A) 250 ozned
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(C) 146 HIned
(D) 186 azns:

Based on the following information,
answer questions 7 t0 9 :

Sales (80% in Credit) Rs. 14 lakh, opening
debtors Rs. 1,800,000, discount Rs. 12,000,
bad debts Rs. 27,000, cash and cheques
reccived Rs. 10,80,000, cheques
dishonoured Rs. 7,200 (expected to realisc
50% from that debtor). Closing creditoi s
Rs. 1,70,000, purchases Rs. 5 lakh
(25% cash) paid to creditors Rs. 3.25.000,
goods returned Rs. 15,000.

Cost of goods sold/sales = 75% closing
stock of finished goods Rs. 1 lakh
opening stock of finished goods

Rs. 0.75 lakh. Assume 1 year = 360
days.

7. The inventory turnover ratio 1s
(A) 12
(B) 24
(C) 36
(D) None of the above

8. The average collection period i1s
(A) 60 days
(B) 59 days
(C) 58 days
(D) None of the above

9. The average payment period 1s
(A) 250 days
(B) 256 days
(C) 146 days
(D) 186 days
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13.

| 10. A firm has an opening stock of Rs. 70,000,

closing stock of Rs. 90,000 and cost of
goods sold Rs. 2,40,000.

What is the inventory Turnover ratio ?
(A) S (B) 4
(C) 3 (D) 2

Based on the following information
answer questions 11 and 12

Credit sales Rs. 3,00,000

Opening balance of accounts receivables
Rs. 40,000

Closing balance of accounts receivable

1s Rs. 60,000

Credit purchases Rs. 1,80,000
Opening balance of Accounts payable
Rs. 20,000

Closing balance of accounts payable

Rs. 40,000

The debtors Turnover ratio is
(A) 6 (B) 8
(C) 10 (D) 12

The creditors Turnover ratio 1s
(A) 8 (B) 6
(C) 4 (D) 2

The rclationship between the income
level and the quantity of commodity
purchased by the consumer 1is
represented by which curve ?

(A) Engel curve
(B) Indifference curve

(C) Lorenz curve

(D) Supply-demand curve
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(A) $VTO IFWFTIOD
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18. AR,Y WROD BT00HeET
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14. Under MRTP Act, dominant firm is
one which has market share of

(A) 10% (B) 25%
(C) 50% (D) >75%

15. Karl Pearson’s co-cfficient of correlation
1s based on the assumption of

(A) Normality
(B) Platy Kurtic
(C) Lepto Kurtic
(D) Skewness

16. Which of the following is a strategy
of job design that increases job depth
by meeting employees needs for
psychological growth ?

(A) Job rotation
(B) Job enrichment
(C) Job enlargement

(ID) Job enrichment and job enlargement

17. Interest rate risk is a type of
(A) Credit risk
(B) Market risk
(C) Operational risk
(D) All the above

18. Net Interest Income is

(A) Interest earned on advances

(B) Interest ecarned on Investments

(C) Total Interest on advances and
Investments

(D) Difference between intercst
earned and interest paid

wirng StudentBounty.com
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(A) 34 (B) 30
(L) 32 (D) 31

ﬁzjda’p ﬂo’ﬁzﬁ 0B za’dﬁzﬁﬁé’cm DO
mp'ahn@é’s:ra ﬁ,-a NTOF T ’@’wa 3T 030D
wdwﬁaﬁ zgo’ﬁza’rf#m ms STONEIRORD
éogaﬁ*.b c:n’o@ﬁ

(A) DT F TROTY
(B) 202330 dodoeges

(C) Weowmesd <5203 a"’z,s;m’ eI0TIVLD
(Costing)

(D) Snwerae® 507

2000 ﬁcﬁ@eﬁa 20930 8RO 1,450 ow.
TN TRees seRes oe. 100 shod
Zgcd  (variance) DOBY  DIVAT
rom0sNTRY, (co-etficient) FOTOHERCD.
(A) 10,000, 10%

(B) 21,02,500 6.89%

(C) 10,000, 6.89%

(D) 21,02,500, 10%

500 300D Alan] B ned S0 2085nY 2,000 3T
waeﬁcdbé 24 26 50. 20: 20. 18 dca-’r{eﬁda
-‘z:s"adc? &dd i § ﬁ@ dcﬁ) F0TEILRCO.

(B) 23
(D) 1.084

(A) 1
(C) 4.517

19.

20.

21.

22,

23.

Which of the following is not a motive
for the companies to hold cash ?

(A) Transaction motive
(B) Precautionary motive

(C) Lack of proper synchronization
between cash in flows and out flows

(D) Capital Investment

Total No. of accounting standards
1ssued by the accounting standards
board of ICAI, as at present are

(A) 34 (B) 30
(C) 32 (D) 31

The technique of bifurcating the cost
into variable and fixed costs and
considering only variable costs for
decision making purposes is called :

(A) Standard costing
(B) Budgetry control
(C) Activity based costing
(D) Marginal costing

The mean wages of a company 1s
Rs. 1,450 and the standard deviation 1s
Rs. 100. What are the variance and
co-efficient of variation values ?

(A) 10,000, 10%

(B) 21,02,500 6.89%
(C) 10,000, 6.89%
(D) 21,02,500, 10%

Calculate ‘t’ value from the following
information about the marks of six
students on a test for 50 marks 24. 26,
30.20. 20, 18.
(A) 1

(C) 4.517

(B) 23
(D) 1.084
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(A) BFT tﬂzﬁrm%
(B) wwndod wproer,
(C) Sooew Zodoed fﬂd??rﬂ

—

(D) daﬁm $e0d> (managerial) f;acjr:sa

25. 2,3’963_;* SANG FITLIOND omd)a’aig{
ROTIROTES 7
1) S0-ms
2) mow =,

3) @, =3

4) m®E A

(A) 2 =ng (B) 3 =»g

(C) 1,233 (D) 1,2,3 =34
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@a’.oaad‘

(A) mresd
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(C) F3porT (Bepgadnn erab)
(D) m,0¢e3

27. VaR <0338
(A) EEE}EJJ’%W 35 WRANA® €983° O,
(B) ™ en, vt OF,
(C) TOORET ST O,
(D) mpn, ot oy

28. SN (stars) B=DFOD SFH (problem
children) ﬁa“a’aa‘ (cash cows) OB
@ (dogs) VNIV, cIns SuSRAY
dﬁfrﬁdmﬁ 2003 92

(A) .. mm (GE Model)
(B) @' wnee Em-%oa’

(C) SRR chsaoé

(D) RT3 WO (BCG medel)

24. Which of the following cconomics
accrue to all the firms in an industry ?

(A) Labour Economics

(B) Economics of concentration
(C) Marketing cconomics

(D) Managerial economics

25. Intellectual property laws can protect
1) Trade marks
2) Copyright

3) Patents
4) Customer loyalty
(A) 2 only (B) 3 only
(C) 1, 2and3 (D) 1,2,3and 4

26. Acquiring the use of equipment such
as machinery without owning it, is
known as
(A) Leasing
(B) Hire purchasc
(C) Factoring
(D) Acquisition

27. VaRk means
(A) Volume of business at risk
(B) Value at risk

(C) Volume on risk
(D) Value as risk

28. Stars, problem children, cash cows and

dogs recfers to classification of
products according to

(A) GE model

(B) Herzberg thcory
(C) Maslow’s theory
(D) BCG Modcl
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29. TR,IT WOBLIFNTO_ FINT CIRI)TV

AT ?

(A) 2&ETI0

(B) &0 Snoos

(C) RreloH &N
(D) 2353 SR

30. 238 ApoFT 0T

(A) méﬁd ﬁzgd

(B) ﬁoimgw-ﬁdw—mdowf(mzj%:ﬁﬂ)
(C) IWFTeDBR0 2T0OROT 303

(D) 0eds 20

31. In0eE, PYodadh RRBIE FOrREOZHR)

CIRT DRRY, SIS 9

(A) =2 ,5 NPT :bwﬁ@_j

(B) =g (Connative) a:’:.)éidc?ﬁ
(C) S=2rsed dund

(D) «g soundd.

32. 3¢ QoFon chgezﬁaﬁeda 9

(A) B0 waed SroIOPYTO
(B) rbao:ne.;_} Z,3TOT O
(C) &80 %@eﬁdm

(D) 83 a0k

33. “13e Qednd B ) e modJFa’cgddg{
CRAA ) FoCDF NSRRYRIED RINF TIBF

R wWENRIZS” Lotrt BeeTnd oI 9
(A) ol 3 2e”

Promotional activities does not include
(A) Advertising

(B) Personnel selling

(C) Discount offers

(D) Product re-design

29.

| 30. Pricing is equal to

(A) Cost of the product

(B) Break even point of the firm
(C) Function of risk rating

(D) All of the above

31. The cffectiveness

of marketing
communication has to be measured on

(A) Cognitive levels
(B) Connative levels

(C) Behavioural levels
(D) All of these

| 32. Pricing objectives consists

(A) Skim the cream
(B) Targeted rate of return

(C) Price stabilisation

(D) All these
33. “Price policies provide the guidelines
within which pricing strategy is
formulated and implemented” who said
it ?

(B) 29 3peldT®
(C) Az

(D) & 200n

(A) Cundiff and Still
(B) Philp Kotler

(C) Scoff

(D) All of these
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(A) o3¢ d&mé&d& DER AT 9T
Oene® E30B0° &SN BEFAOIT

(B) 90309, 2t Feor3 ATFTOOD 85030
dmﬁg%ﬂ

(C) T wa%dtd 5209, A0 FNT03I
DD ﬁmczﬁaé’mﬁ%d T3 C30 ﬁzsauag
merbgzj

(D) s, wowd ARSI
BSFO SIS YVSVTFN BRTUWIOTD

35. 2,00 c3pexSe SNAS wWIB0R) ToB) TR0
BOZNTR), L9CTITIHE ROLIOHR, 5 ENSIYNTED._
IR FOGIRNT 2

(A) A=ELOD BRID, 3oN TPIFT 8,
SRR ST,

(B) Rs3gvod 3p3xR) 30riodh weds oo
3RaRI)

(C) Faz9csom), oM WOTD mzp’a;
BRBRJYTRNOE L9T00T FFOI0YTNOE
=

(D) 0030 SIRFT F0INFIT WOBDVH
NSV BT LABOOTD TOTESRSETD).

36. ﬂo’ﬁaﬁ#ﬁg{ a’ﬁ% CIOTIRINTC T0WON DO
TIROT JRTDD TOOTW ::J"Jﬁ‘ro&:gje;'f

DWOLITRD, QZT.
(A) TRIND

(B) @oowomooo

(C) monsmoodd

(D) 83 203

34. Which of the following may be
considered as the correct reason for
money having time value ?

(A) It is the legal tender for carrying
out any type of transaction

(B) In India, It is guaranteed by the
union government

(C) Its purchasing power increases
with the passage of time due to
inflation

(D) Money can be productively
invested to generate real returns
over a period of time

35. Which of the following i1s/are true
regarding the measurcment of cash
inflows and outflows of a project ?

(A) Depreciation amount should be
added to profits before Tax

(B) Depreciation amount should be
added to profit after Tax

(C) Depreciation should neither be
added to nor be subtracted from
profits after Tax

(D) Working capital requirement 1n
the first year should be treated as
cash inflow

36. The mercantile agents who adopt the
auction method of sclling goods on
behalf of their principle are called

(A) Brokers
(B) Auctioners

(C) Common carriers
(D) All these
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37. PPSrcod (Baumol’s)mnamo =02 Q0VTs
RRToNsh SRFTE LTe3RNIOTITE,

(A) SNO dRFZBN
(B) 20350030030 BN
(C) A Fon® JSF BN

(D) Snoees Fodooh deromn

38. JF-95"5° h@poé, 383 STOeLIoNT QT I
ﬁm'%oé, BRsSIor m%od D) T &
1
%mﬁo@ﬁ% CIRYTIE FoLWORREI ?

(A) 59, 3T L3t3on®
(B) 52030FZF woBmos ASF N
(C) woBmYw 3503,

(D) 20@598 03

39. cInRR)Te TRTD FOTIRY BR&S :’%dﬂ@oﬂo
eruz?;ea’aie& 9

(A) SRTZ APFOIIW), SRCTADD
WHLD STV, 10T CI0ZF, WRAITT

(B) Rozgheor BReR R0TTW B0
mmaﬁdﬁg{ 2 TINRDTI) T

(C) AmoFDTON AW Fdrﬁeja’gt BRTOERY &0
SO

(D) 8¢ 303 Ro0d8 200N Roa3,033)
3R IRBDY

| 37. Baumol’s model and Miller-orr model

38.

arc models for

(A) Cash management

(B) Receilvables management
(C) Inventory management

(D) Marketing management

Net income theory, net operating
income theory, traditional theory and

M and M theory are theories relating to
(A)~Capital budgeting

(B) Working capital management
(C) Cost of capital

(D) Capaital structure

39. The purpose of any H.R. information

system 1s to

(A) Replace human decision making
with computerised decision
making

(B) Provide data and data summaries

that are error free

(C) Assist managers in decision

making

(D) Reduce the number of low-level

support staff
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40). 333IINTZHNTS) 3T LFTOSID VT
TFODFNG S8 RTINS ?

(A) crexd, AoPUT, 2w edNT FRTE,
NTF DT, ACCZED TR RO, 0

(B) ABrexd, 3TredS, Fce3s, 20N
TPTE, DD TOA) RO, 0

(C) Repa3s, drexs, AWOONY FRTF,
AT BT, VOOZED Y A0 O

(D) cdnexd, Fo83s, ABF 3, ?m;c&)rf#
TPTF, AT, 0D T2 ACeT s

41. Seos8c3RNOm ::‘acp;a"“o&ao’aa’ DD
LQFNERCON FO TRCTERTTD SReTOH
wz%@rn’%”?d;{ TRREOD DTITIZT @jgcdamﬁ
DT FTOIVZT ?

(A) Bo=g emres
(B) 030
(C) Sowied
(D) wdaen 3@

42. 0% PUINON JCRT FONY WL
239, 080NPY CINF)TOOT [OTO ~ TEDTIRD
(refinance) :3’9@?.3:5353’;3{ DBEOWITOTD 2

(A) @22 222 (DI & CGC)
(B) » & ©» (IDBI)

(C) szt (NABARD)

(D) &2 (ECGC)

43. D&eod Je30NY CINTD AT 2
(A) 3on Tonsd Ty
(B) SZpe oonvd woovms
(C) assoreso® (CRR) s@zHodmnnog)d
(D) =0z m&ﬁaé;pja 2ONEID

40. Which one of the following order

indicate the correct logical order of
managerial functions ?

(A) Planning, organising, staffing.
directing control, and co-ordination

(B) Planning directing, organising.
staffing control and co-ordination

(C) Orgainsing, planning, staffing,
directing, control and co-ordination

(D) Planning, organising, directing,

staffing, co-ordination and control

41. The negative process of eliminating
those who appear uncompromising
from all the candidates considered for

possible employment is called
(A) Recruitment

(B) Selection

(C) Training

(D) Promotion

42. Banks can avail refinance against

loans made to industrial units {from :
(A) DI and CGC (B) IDBI
(C) NABARD (D) ECGC

43. Monetary policy does not include
(A) Increase 1n tax rates
(B) Change in Repo rates
(C) Decrease in CRR

(D) Open market consideration
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44. U.T.Loins Sxir o momsesmens 9

(A) 1962 (B) 1963

(C) 1964 (D) 1965

45. 39Ny wedrievs

1) = Dok a) RTBN Yo
2LIOTOTOROTR,
RWREIEFOIC

b) & ﬁdﬁaﬁ#&i&
DSEMONTS_
20T Wil

3) BIFROC C) ﬁdﬁ)n’%‘i}q

DTEMONTE,

N Wik
A

2) RoT s5° SeRe

4) mysone wess d) REeHOT
Rogones:
TR ik

(A) 1-b,2—-c¢,3-d,4-a
(B) 1-b,2-¢,3-a,4-d
(C)1-c,2-b,3-2a,4-d
MD)1l-c,2-b,3-d,4—-a

46. SDR nvxd ans, Beonon one

R OROTOEITRN DOWESRTOIT.
(A) xR0,
(B) TRECD  STROD

(C) 0TI L0 TN 230030

(D) w@Ess

44, The U.T.I. was established in
(A) 1962 (B) 1963
(C) 1964 (D) 1965

45. Match the following :

1) Shipping bill a) To certify
the orgin of

goods

2) Bill of lading b) For having
loaded the
cargo in the
ship

3) Consular invoice ¢) To transport
cargo by
ship

d) To identify

the cargo 1n

4) Packing slip

transport
(A) 1-b,2-c¢,3-d,4-a
(B) 1-b,2-c¢,3-a,4-d
(C) 1-c,2-b,3—-a,4-d
D) 1 -c,2-b,3-d,4-a

46. SDRs are allocated to member nation
in proportion to their

(A) Population

(B) National income
(C) Subscription to IMF
(D) Poverty.
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47. 001 200002, TRTHOWOD 33030 8. 46

000 TR. 48 E{; WTTODTIN T30 aaa‘a’gi

RRWAIZT 7

(A) 00T [PV,TY, DOT VHD
BRTDCOD dﬁmﬁ@ Salvcs

(B) 03 E:::f‘ae;‘_sme‘.’:am QYT BT
CRITICVOL RPQ,BY DOF

(C) moda a’a’ao D9 @9 R[OB
TR0 c‘DEﬁfa o v QA

(D) onzpo00030 a’a’aa 0 a9 JOB
@OOID DI ?.utﬂu'?dt'a QL)

48. R0eF & som'r (Espriti De Corps) <ow
3333 T OIBID

(A) OSFA°, see®
(C) = Fhne

(B) &o°. . Beda®
(D) &et30* BET*

49. MBO B 350 2050 Rox S0GBDR)

(A) FROTN =), DJVLICFY TOINN
mzf@&:ta’aésdzjeﬁ)

(B) wkedg $OT00THR0, HEODLD 23503
momdodad) wﬁ&ﬁdzﬁeﬁa

(C) Eﬁweﬁa’ w@@oefdab JEoeD 3T
amr:&raeuﬁcdaﬁa 2SR R0RTLIER

(D) eagc3000 '?Jcp Ionow FOoINY
CRTTY, T3, aﬂdﬁfﬁj

50. T ReL3IF030mo* Sl=pRI (ua@&ad
aiaacr{ca’rm) DOTT

(A) RSBSF TBERN DT
(B) 20803080 D538 AT

(©) mcﬁﬁo:-a’ éz:b moﬁor{eda DRI 22083
ﬁsamﬁ:d ,-Jmccb

(D) ¥a°5 7 Sooes® a’aaa'am’ DRBOD
55@33,4:3 20

(E) S0eds cdnmte @)

47. A change in (Rs./$) from Rs 46 to
Rs. 48 indicates

(A) Appreciation in dollar or depreciation
in Rupece

(B) Depreciation in dollar or Appreciation
in rupee

(C) Depreciation in doller and no
change 1n rupee

(D) Depreciation in rupee and no
change in dollar

48. “Espirit De Corps™ principle was
enunciated by
(A) Earnest Dale
(B) R.C. Davis
(C) Henry Fayol
(D) Peter Drucker

49. MBO is a technique which requires that
the objective of the enterprise

(A) Be written and defined in broad
terms

(B) Lay down the time period for
achieving the desired results

(C) Include a plan of action for
achieving the desired results

(D) Be defined in terms of measurable
results

50. Consortium advances refer to
(A) Con current borrowings

(B) Multiple financing

(C) Joint financing by more than one
bank

(D) Financing of consignment business
(E) None of these
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W) WOBFIN Y
Space for Rough Work
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